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Which was wrapped in a rag — RNHa2 9% T

Overview

The X1 established the dispute between the "n and w"9, regarding °% *wipnn
27T DWW R¥MAN A0 YW 7173, in a case where the woman told a m°%w, ‘go and receive
my PwI7R from this man who told me 702 5w 11°72 °2 *wIpn’. The mHw went and
brought her a 271 5w 117 (the oW did not realize that it was a 277 137, for the coin
was wrapped in a rag). n901n explains why we could not give this explanation
previously.
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»"'w1 explained that when the man gave it to the woman’s m»w, the coin was
wrapped in a rag, and when it reached the hands of the woman she found it to
be gold (that is why the 71wn states 'X¥nan') —

mooIn responds to an anticipated difficulty:
= N5PDA 9998 NINT RENI INMD $IWD d81) RY 190 21T 903 NIPIYN NNI 7599 %5 955y

And previously when the X713 asked, how can the mawn write 'Nx21' (it was found
to be), when initially it was also gold! Regarding this question, the X713 could not

have answered, ‘what is meant by Xx»1 that it was wrapped in a rag; the same

answer that is given here. m901n replies that there the X713 could not have given this answer -
= AN DY RINY RO NPT 15 OX PYITP NYAPN NNSY NYND XNYT

For in that case the woman herself is receiving the 1P2175p so therefore we must

say that she knows that it is gold (when she accepts it from the m5w) -
- YUNHPN INNN 7Y NOVP 51 902 HY XINY 19120 NOD ONVY

For if she assumed that it was silver, the question would remain why is she

nwTIPN -
= NANTA 159 RN XYY NODH2 N9 NNIT NIIN NI

Since there are those who are X2;7772 7795 N9 K9 XDO23 ;1°9 RIO1 -
- Y9 PYITPN PN KD A0 19 XY ONT 79 Y19 MHYAY 19 Y

And we certainly must say that the m°>w knew this (that it was gold) for if the
5w did not know (but thought it was silver) so he is making a mistake and the
P79 are worthless (he intended to be w7pn her (for his friend) with 702 but not with 2777 -

Ymnt At

2 »ax previously gave a different explanation, that the 71w is in a case where the wTp» told his 15w, ‘lay out for me
a o3 71°7 and be w1pn for me this woman’, but the 5w laid out a 277 73°7. The X3 there asked (according to »aR)
how can the mawn state X¥n1), when initially the 2w laid out a 2737 737 (it was not 277 2w Xiw Rx23).
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- )9 N9N DY NNINT RAYO ONN TV KDY

And the reason of ‘he is just showing him a place’, is not applicable there -
$99 NN DYPN ANINT APV TV *PYITH Hanh NYHY INKYYY KON YaN

However here where she made him a 7% to receive the 1217°p the reason of
Y2 X7 23p% 78772 is applicable.

Summary
The answer of Xn>922 77X is applicable only by a 1772p% m°%w of the nwX, but not by

a wp°2 mow of the 7¥a (where the 5w lays out the money).

Thinking it over
It appears5 from nMpoIn that if the m°%w (of the wipn) made a mistake (he laid out

277 instead of q0D) we cannot say 17 X117 D3P AXM; however if the MW was aware
that he was laying out 2777 instead of 702 then »aX says (according to ¥"7) we can
say 12 X1 2pn X%, However how is it possible to say that when the husband told
the oW to lay out Hod W 117 that he was 2 X7 0pn IR M; he said 70> but not
more?! Would we say that if the m>¥ laid out a thousand 277 *31°7 that the wpn
was 12 X177 23pn axm1°

> When one, for instance, says to a 7w, ‘be wipn for me this woman in that particular city’, and the 7w went and
was w7pn her in a different city, we could either say that the w7pn was 7°9pn that the 1"w17°p should only take place in
this particular city, or we can say he was merely informing the m%w where to find the woman; he was X7 Q3pn 787
17, but he does not mind if the m°%w is wW7pn her elsewhere. In s"*aX explanation (where the husband sent the m°%w) it
is possible to say that when the 7w knowingly laid out a 277 Hw 11°7 for the 1v17°p, that she is nwmipn for we can
assume Y2 X7 1P AR (the wIpn said 703 but does not mind 277 [see ‘Thinking it over’]); however if we assume
that the m%w mistakenly gave her the 277, the issue of DWpn XM is totally inapplicable since the m%w had the
intention of laying out only a 7103 5w 117 not 277 7w. It is myv "w17p.

* The role of the m>w here is totally passive, he is merely accepting the 1w 7°p on behalf of the woman (he is not
laying out his own money), so therefore even if she said 73 71°7 and it turned out to be a 277 72°7 and the m°Yw was
unaware, we can still say 12 X7 01 187 (she is happy with [even] a 705 22°7, but she would not mind a 277 22°7).
The lack of knowledge on the part of the 7w has no effect on the PwI7p.

> See footnote # 3.

® See X2°K 1"7 '01N2 K"Ww1 and oM "7 M2 AwWR NHML..
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